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Independence Day!
This activity is designed to get us thinking about how we can look for a relationship between two categorical variables. Are they dependent on each other or not?
To get a feeling for the context – you might take the following survey http://tinyurl.com/ml9guok
Frequency Tables
The following are different possible results tables for a survey done about ‘Political Persuasion’. The totals are given and our job is to fill in the gaps. To do so, we are going to ‘assume’ that there is no relationship between gender and political persuasion and write the number we would expect. The first is partly done for us….

Since half of the people in the survey are male and
There is no dependence (assumed)

Then I would expect half of the 120 left wingers to be male

	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	60
	
	
	200

	Female
	60
	
	
	200

	Totals
	120
	200
	80
	400


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	500

	Female
	
	
	
	500

	Totals
	200
	350
	450
	1000


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	100

	Female
	
	
	
	300

	Totals
	120
	200
	80
	400


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	200

	Female
	
	
	
	400

	Totals
	180
	300
	120
	600


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	300

	Female
	
	
	
	200

	Totals
	150
	250
	100
	500


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	700

	Female
	
	
	
	300

	Totals
	200
	500
	300
	1000


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	650

	Female
	
	
	
	350

	Totals
	240
	480
	280
	1000


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	140

	Female
	
	
	
	340

	Totals
	150
	215
	115
	480


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	112

	Female
	
	
	
	286

	Totals
	54
	236
	108
	398


	Q1/Q2
	Left
	Central
	Right
	Totals

	Male
	
	
	
	137

	Female
	
	
	
	84

	Totals
	73
	95
	53
	221


A general Approach!
Can you find and describe a general approach to finding these ‘expected frequencies’?
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